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HETH 2 i; 79. WEBEWHLEMHS |80. TEEWIEEL |81. HEEHhAIERMEL
& B [HEARFALED] B [ AAOFALEEY ] BA [AAOFALRY)

EELi 2 2.38 2 2.60 3 3.81
EFH 8 1.58 7 1.97 27 0.67
7= 11 1.42 9 1.90 4 3.62
mEmH 3 1.96 5 2.17 1 9.70
TiE™ 7 1.61 8 1.95 9 2.06
Al 13 1.33 12 1.56 8 213
BET 17 1.11 14 1.46 2 428
TiEFEKT 21 0.92 19 1.23 19 117
mAE+H 18 0.99 20 117 13 1.79
Emh 16 1.14 18 1.24 22 1.05
= ditl 12 1.39 13 1.51 18 1.25
BFEHET 31 0.43 31 0.43 24 0.82
Z=4 F BT 19 0.96 17 1.28 17 1.55
kS S 26 0.77 26 0.77 6 3.03
2 A HET 25 0.77 25 0.77 21 1.11
de)4t - - - - - -
EREA - - - - 20 1.12
= 4 1.91 3 2.45 7 2.38
AT 9 1.46 6 2.04 15 1.71
REH 1 3.22 1 439 25 0.81
T iEHT 5 1.85 10 1.85 12 1.80
yNIIES] - - - - - -
LT 10 144 11 1.62 16 1.61
{Zi=)IImT 30 0.59 30 0.59 23 0.93
o+ {EHRT 24 0.77 24 0.77 26 0.73
)| BT 23 0.88 23 0.88 11 1.86
5 %0 AT 20 0.93 21 0.93 5 3.19
=R ET 22 0.88 22 0.88 10 1.98
BHEH 6 1.81 4 2.41 32 0.20
p=4:3:10) 14 1.25 15 1.42 30 0.51
o 5 A7 28 0.67 27 0.73 14 1.74
L] 29 0.62 29 0.62 29 0.59
=R+t 27 0.67 28 0.67 28 0.65
2 HmT 15 1.20 16 1.38 31 0.36
= 5E 1.80 2.02 3.22
ERX SN2 SN2 ER30E12H31H
. v R v R BN - R AT - BRI E AT
H Pt EZSALM. BHEE EZSALM. BHEE EEFBE. BHE
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ErHE ;; 82. REMFIEHEMMN (83, RELHA LAY |84. BHEEH

& BEL [ANABFALED] B [ AABFALEEY) ] BA [ANAOFALEY)
EELi 2 0.90 4 310 6 2433
EFH 20 0.52 23 0.82 19 10.49
7= 9 0.63 7 2.47 8 21.76
mEmH 4 0.82 1 3.41 2 3247
TiE™ 21 0.52 9 2.10 13 15.35
Al 12 0.59 8 227 10 19.35
BET 3 0.83 6 267 5 30.21
TiEFEKT 7 0.73 18 1.32 21 9.48
mAE+H 8 0.71 11 2.03 9 19.44
Emh 14 0.57 22 0.84 24 7.56
= ditl 10 0.61 14 1.79 17 12.12
BFEHET 23 0.41 19 1.22 32 3.03
Z=4 F BT 1 0.93 2 3.41 20 9.94
M P ET 6 0.76 3 3.40 1 33.77
2 A HET 25 0.37 21 1.11 31 3.86
e+ - - - - 34 2.41
EREA - - - - 29 481
= 19 0.53 16 1.59 3 31.59
AT 28 0.29 13 2.00 7 22.77
REH 17 0.54 29 0.27 22 8.48
T iEHT 5 0.77 10 2.05 11 18.23
yNIIES] - - - -| 33 2.65
LT 16 0.56 15 1.74 15 13.18
=) BT 24 0.37 28 0.37 18 11.75
- {ZHT 22 0.44 25 0.73 23 8.34
)| BT 29 0.23 12 2.01 12 16.69
5 %0 AT 26 0.35 5 2.83 4 31.44
=R ET 15 0.56 20 1.13 14 13.22
BHEH 30 0.20 27 0.40 28 5.22
p=4:3:10) 27 0.34 26 0.51 30 445
/8 5+ Hy 13 0.58 17 1.57 16 12.63
XHHET 11 0.59 24 0.79 25 6.45
=R+t - - - - 27 5.37
2 HmT 18 0.53 30 0.27 26 5.53
= 5E 0.74 2.43 20.41
ERX ER30E12H31H ER3I0E12H31H SF2F12H31H
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I ;; 85. EMMERM 86. WREBHEFH |87, MEM
& | AL [ AnFALED | IERL (AR AOFAZED] IBR [RAOFALSFY)
EELi 15 0.99 5 0.60 8 31.12
EFH 31 0.69 10 0.46 16 18.87
7= 12 1.05 8 0.47 14 21.30
mEmH 20 0.89 21 0.36 5 36.66
TiE™ 29 0.74 13 0.45 17 18.07
Al 28 0.74 9 0.47 9 30.46
BET 18 0.94 4 0.64 4 38.05
TiEFEKT 32 0.67 12 0.45 18 16.41
mAE+H 14 1.01 6 0.56 13 24.08
Emh 25 0.78 15 0.42 20 10.23
= ditl 16 0.96 11 0.46 12 25.76
BFEHET 23 0.84 14 042 - -
Z=4 F BT 7 1.28 1 0.96 24 6.06
M P ET 26 0.76 2 0.76 7 32.09
2 A HET 27 0.75 19 0.38 - -
de)4t - - - - - -
EREA 2 2.33 - - - -
= 11 1.07 27 0.27 1 60.34
AT 22 0.86 25 0.29 10 28.47
REH 3 2.26 26 0.28 11 25.97
T iEHT 6 1.31 28 0.26 3 4417
yNIIES] 1 2.54 - - - -
LT 13 1.02 18 0.40 15 20.07
=) BT 9 1.15 31 0.19 21 9.76
tht {EHT 8 1.20 23 0.30 23 7.62
)| BT 17 0.94| 29 0.24 6 35.74
5 %0 AT 10 1.08 20 0.36 2 45.32
=R ET 4 1.44 24 0.29 22 8.65
BHEH 24 0.80 30 0.20 - -
p=4:3:10) 21 0.87 22 0.35 - -
/8 5+ Hy 19 0.89 16 0.42 19 14.34
XHHET 33 0.61 17 0.40 25 5.06
=R+t 5 1.34 3 0.67 26 401
2 HmT 30 0.72 7 0.54 - -
= 5E 0.95 0.51 26.42
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I i; 88, ERRESBRNAE |80, EERFERRDEE |90 EXFAMETH
% | JEfz %] B |MGEEEE1AS=Y| JBAL | A AOFALTY)
EELi 34 19.46 15 352,273 29 3.19
EFH 4 31.21 6 381,879 9 5.37
7= 2 32.15 19 340,963 18 426
mEmH 31 21.72 12 361,435 31 2.94
TiE™ 14 27.09 11 361,776 32 2.78
Al 12 27.98 33 295,134 20 414
BEM 13 27.25 32 299,084 27 3.46
TiEFEKT 5 30.88 26 321,075 16 472
mAE+H 21 24.74 34 267,512 24 3.7
Emh 24 2427 22 332,381 30 3.12
= ditl 20 24.90 9 366,751 26 3.56
BFEHET 6 30.70 3 441,939 1 10.50
Z=4 F BT 7 29.81 24 329,592 5 6.38
EE52i) 10 28.69 5 386,097 4 6.49
2 A HET 8 28.91 18 344,533 3 6.78
e+ 16 26.54 4 390,182 7 5.51
EREA 33 19.58 17 344,982 17 4.66
= 1 36.44 20 338,097 13 483
AT 30 22.35 31 302,691 28 3.45
REH 18 25.43 1 542,501 14 4.80
T iEHT 28 23.16 25 328,383 25 3.66
yNIIES] 32 19.80 21 337,374 2 10.15
LNDHT 27 2350 8 372,318 21 403
{Zi=)IImT 25 23.77 2 452,000 15 479
o 1 {EHT 17 26.37 10 362,530 11 493
)| BT 26 23.69 7 381,662 12 488
5 %0 AT 19 25.22 16 350,931 8 5.42
=R ET 23 2452 14 354,925 33 2.31
BHEH 22 24.68 13 356,282 19 419
p=4:3:10) 29 22.79 29 308,947 22 3.84
o 5 A7 11 28.29 27 318,561 10 5.00
XHHET 3 3157 23 331,765 6 5.87
=R+t 15 27.04 28 318,146 34 0.67
S 9 28.73 30 306,634 23 3.80
= 5E 23.10 344,248 3.60
ERX SH2FEER SH2EE fﬂgﬁ S
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ErHE i; o1, MMEHEBETH (02, DESETHR |93, FIAILBALK
& | B [NAOFALED | ER [ A AOFAZED] IBR [HEAOFALSEY)
EELi 25 088 28 1.95 2 517
EFH 17 1.38 18 2.84 30 1.34
7= 7 1.81 13 3.21 24 1.90
mEmH 21 1.16 31 1.86 9 3.09
TiE™ 11 1.56 23 2.41 23 1.95
Al 28 0.84 12 3.67 4 455
BET 26 0.84 27 2.08 11 2.76
TiEFEKT 15 1.42 17 2.85 13 2.70
mAE+H 22 1.07 20 2.70 12 273
Emh 29 0.75 29 1.92 14 2.68
= ditl 19 1.26 19 2.72 5 428
BFEHET 27 0.84 32 1.68 3 477
Z=4 F BT 1 3.19 22 255 15 256
M P ET 33 0.38 33 1.53 27 1.53
2 A HET 12 1.51 4 490 26 1.54
e+ 9 1.57 34 0.79 34 0.80
EREA 4 2.33 5 466 32 1.20
= 2 2.95 30 1.88 6 3.81
AT 31 0.58 25 2.30 33 1.17
REH 16 1.41 2 5.64 8 3.22
T iEHT 5 2.09 10 418 25 1.59
yNIIES] - - 1 7.61 1 5.31
LT 20 1.24 24 2.30 19 243
=) BT 8 1.72 9 421 17 2.55
tht {EHT 13 1.49 8 433 22 2.01
)| BT 23 1.02 16 291 16 256
5 %0 AT 3 2.71 11 3.79 20 2.42
=R ET 30 0.58 6 461 21 2.35
BHEH 24 1.00 15 3.00 28 1.41
p=4:3:10) 10 1.57 7 454 31 1.25
o 5 A7 18 1.31 21 2.68 18 2.43
XHHET 32 0.40 26 2.23 10 2.91
=R+t 6 2.00 3 5.34 29 1.34
2 HmT 14 1.45 14 3.07 7 3.32
= 5E 1.07 2.36 3.88
ERX SHI2%E SHI2E SHI2E
e AOFERE. AOFERE. LEHEE.
EREXRESIRESE EREXRESIRESE EREXREIRSE
HFT EEFBE BHE |[BEEFHE LHE  |RESsRNEcER 454
INMERBICKARET |[MERICKDFETH (S
& B/SH2E1A1ARE |EHERO /S 241 A1 |FR5N4#%/.A0 x 1,000
A A % 1,000 HIREA O x 1,000
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